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Find the average of first 300 even numbers.

el 300 TH Gt o1 STEd < B ?
(A) 301 (B) 300
(C) 302 (D) 301.5

Find the average of first 250 odd numbers.
TRt 250 faom Hemsti 1 Sied = 8 ?

(A) 251 (B) 250.5

(C) 250 (D) 251.5

Find the average of first 200 natural
numbers?

TEelt 200 UThd TEnsti 1 3irga &= 2 ?
(A)100 (B) 101.5
(C) 102.5 (D) 100.5

If average of certain consecutive even
numbers is 80, find the sum of these
numbers.

IS Tl HE HANTT TH Gl 1 $Td 80 € A T
T ARTHS =1 BT 2

(A) 6320 (B) 4320

(C) 5320 (D) 7320

If average of certain consecutive odd

numbers is 60, find the sum of these
numbers.

AfE o NG fao weenst w1 23d 60 & o St
AT 1 B ?

(A) 3200 (B) 3600

(C) 3400 (D) 3500

If average of the initial consecutive natural

numbers is 40.5, find the sum of these
numbers.

afg fop=t veell ehfde &edl 1 37Hd 40.5 § o S
ANTHS =1 B ?

(A) 3140 (B) 3440

(C) 3240 (D) 3340

If the average of 8 consecutive even

numbers is 105, find the greatest number
among them.
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=g 8 HHNT 9 FE&AT =1 e 105 & O Tol 9! G&
1 Bt ?

(A) 111 (B) 113

(C) 112 (D) 114

If the average of 20 consecutive odd

numbers is 76, find the smallest number
among them.

g 20 FHAFTT faw TEnst #1 oiwd 76 ¥ @ T B
&A1 1 Bt 2

(A) 57 (B) 53

(C) 47 (D) 55

If the average of 20 consecutive odd

numbers is 104, find the difference between
the greatest and the smallest number?

7fg 20 AT faom Temed 1 3 fEd 104 € @ Gad 9t

AR ol SIS TEATSTt oh1 ST 1 B 2
(A) 36 (B) 34
(C) 32 (D) 38

The arithmetic mean of 100 observations is
24.6. This mean is added to each
observation and then each of them is
multipliedby 2.5. What is the new arithmetic
mean?

100 HEAT T FHIR HILA 24.6 ¥ | 9% 39d YAh
TR | SISl S § 3R fRY 378 & 9 i 2.5 7o
fopan ST % | ST eI HeA s ¥

(A) 75.5 B) 75

(C) 85 (D) 85.5

The average salary of 15 people is Rs. 5500.
If the salary of one more person is added, the

average increases to Rs. 5700. What is the
salary of this person?

15 AR =T TEd o9 5500 %0 ¥ 4TS Tk AT b1 o
3R g fean <& @ ofred 5700 . & ST § O 79 SAfd
1 o T &2
(A) 7700
(C) 8700

(B) 6700
(D) 6300
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Average weight of 24 students is 35 kg. If the
weight of a teacher is added, the average
weight is increased by 400 gm. What is the
weight of the teacher?

24 forenfefai o1 ofd oo 35 kg. ¥ | Afg 1T *1
o IR Sig g S @ 3fd 400 gm. ¥ g S g ot
AT T I ToherT &2
(A) 45 kg (B) 49 kg

(C) 48 kg (D) 51kg

The average weight of 8 candidates
increases by 1.5 kg if a man, whose weight is
65 kg, is replaced by another man. What is
the weight of the new man?

8 AT 1 T To 1.5 kg, T g W1 § 59 T 65
kg o e o €I T 1 SR 71 Sl € <l 72 SAfeRd <t
o feRa B 2
(A) 75 kg (B) 78 kg
(C) 76 kg (D) 77 kg

The average age of 24 boys and their teacher
is 15 years. When the teacher's age is
excluded, the average decreased by 1 year.
The age of the teacher is?

24 faenfofali SR Seh Weh STeATI i ST9d 3 15 TH 7 |
TS 1L T Y BT < S A S 3 1 T 7 B <At
¥ | STeATIH 1 g A B 2

(A) 38 (B) 37

(C) 39 (D) 36

The average salary of the entire staff in an
office is Rs. 120. The average salary of an
officer is Rs. 460 and that of non-officers is Rs.
110. If the number of officers is 30, then find
the number of non-officers in the office.

forlt g ema | Teft =i &1 of|d a9 120 T B
STFERTTET o1 STrerd I 460 %. § HSIGU o1 SiHd o
%110 % | afs sferemfia st S 30 1 A Aeigl w1 S
1 gt ?
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(A) 1020 (B) 1060

(C) 1040 (D) 1080

The average salary of seven technicians in
an office is Rs. 12000 while the average
salary of a non-technician is Rs. 6000. If the
average salary of all employee is Rs. 8000,
what would be the total number of
employees?

7 AR 1 ST I 12000 %. € TG 1 3iEd I
6000 %. § Afg Tt =il <1 23d 9a= 8000 %. B

ftrg § foray = g7 2
(A) 20 (B) 22
(C) 21 (D) 23

There are 1800 students in a school the
average age of boys is 12 years and the
average age of girls is 11 years; the average
age of all students is 11 years 9 months. Find
the total number of boys and girls in the

school.

Teh THe T 1800 B € | Teh Tgeh i 3T1Hd 3119 12 1R
TAF ASh! 1 Td 3g 11 a6 § | AfE et famfef=ii i
31red 3T 11 916 9 HIE & ol el § AiSehi 3R T fonat
%1 e TEA T1d IS |

(A) Boys = 1400 girls = 400

(B) Boys = 1350 girls = 450

(C) Boys = 1300 girls = 500

(D) Boys = 1200 girls = 600

The average of the largest and the smallest
three-digit number formed by the digits
0, 2, 4) is?

(0,2,4) Y o1t A o] 1 a1 G 9 Bl A B

T 1 3Ed = B ?
(A) 312 (B) 315
(C) 313 (D) 314
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19. Average of 20 numbers is 35 and it is later 20. The average weight of A, B and C is 45 kg. If
found that one figure, 85, was mistakenly the average weight of A and B is 40kg and
read as 45. What is the right average? that of B and C is 43kg, then what is the
20 HEAS T ST 35 ¥ | T I THI Th AT 85 weight of B?

1 AT 9 45 Tl T o Tl a9 g 2 A, B 3R C =1 3fr|d o< 45 kg §1 A 3R B w1 2ird
(A) 35 (B) 36 oM 40kg & @k B 31k C &1 2frad a5 43kg Tl
(C) 38 (D) 37 B 1 g fohaH 2 ?

(A) 30 kg/ T (B) 31 kg/fwu.

(C) 32 kg/ . (D) 33 kg/ T
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